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(B) (MBS UL EWIAERT 5 i’%ﬁd)iﬁ%w'.é;'é(m) I RS Y =& (m) EAREGISES T LRR L BESBRICHEZ T FrfEh HET /MEHET
(C) % &< J:%JJ?NOOkN/mlA"FGDIZfEWﬁgE)JG_)jJO)BE—k{ E(kN/mm) (G) EFEEMN3mEL FORIBDHEED DR KEKN/m) DREAENSETETAENTES,
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ROES ® &

(A) (B) (c) (D) (E) (F) (G) (H) (B) (©) (D) (E) (F) (G) (H)
(1) 135.0 1.0 99.5 1.0 - - 13.0 2.6 135.0 1.0 96.8 1.0 - - 13.0 2.6
(2) - - 85.5 1.0 - - 9.4 1.9 - 81.8 1.0 - - 9.4 1.9
(3) 125.9 1.0 99.8 1.0 - - 12.6 2.5 124.2 1.0 96.8 1.0 - - 12.6 2.5
( 4) - - 59.5 1.0 - - 8.7 1.7 - 59.5 1.0 - - 8.7 1.7
(5) 106.6 1.0 99.2 1.0 - - 11.4 2.3 102.2 1.0 96.8 1.0 - - 11.4 2.3
(6) - - 71.2 1.0 - - 9.1 1.8 - 67.6 1.0 - - 9.1 1.8
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